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(Marketing Decisions)
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3 22,000 Ynl 15,000 WIM 12,000 lml

mt*aon s2 25,000 17,000 10,000

s3 18,000 19,000 11,000
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1. n?t~ntulpn?u~~~?,1lu;usu (Decision - making Under
0

Certainty)



?lJ& CiGlu, 2 3 4 5 6

R3lli~l1rt~U 0.2 0.3 0.3 0.1  a1
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~73  ilsn s1 = 2 24 24 24 24 24

( oium&l) s2=3 16 36 36 36 36

s3 = b 8 28 48 48 48

S4 = 5 0 20 40 60 60

s5  = 6 -8 12 32 52 72

$~aAnl,R,n#iJaoju9nalluvlu (EOP) aaam~fan  (.Q>  ?n 7 $21

EOP(S$ = f p,,f(Nj)

lULi!Q P ij tSUuan~tittmu~~4m74  t&n  i lum-mnwfZ  j

f(Nj) I~R'I?Znl?P=L~~SIB~~~,~,*~  j i$l&

EOP$=2) = 24(.2>+24(.3)+24(.3>+24(.1)+240  - 24 Y?tl

EOP(S2=3)  = 16(.2)+36(.3)+36(.3)+36(.1)+36(.1) = 32 U-W

EOP(S3=4)  = 8(.2)+28(.3h48(.3b48(.1&48(.1)  - 34 llwl

EOP(S4r5)  - 0(.2)+20(.3&40(.3)+60(.1)+6f\.l)  - 30 lml

EOP(S5=6) = -8(.2>+12(.3>+32(.3>+52(.1)+72(.1)  - 24 11W



Information  : EPPI)

(Expected Profit with

6 0

7 2



(Expected Value of Perfect Information : EVPI)
¶I-
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Mp=3 Ml.17

anm7rtGuan~~~~  qla$) 75 16 17 1 8

llfzu7rmd&~C;~) s1 a 1 5 4 5 4 5 4 5 45

S2 - 16 3 8 4 8 4 8 4 8

nw  L’aen  s3 - 17 3-I 41 5-I 51

fi4 - 18 2 4 34 44 54



EOP(.Si)  = f P,,f(Nj>

EOP(S1  = 15)  = 45t.l) t 4.5C.2)  + 45C.4) + 45C.31

I 45 lJ?M

EOP$  = 16) E 38t.1) + 48C.2) t 46C.4) t 48C.3)

z 47 lml

EOP(Sj  P/17) = 31t.l) + 41C.21 t 51C.4) t 51C.3)

47 l.nM

EOP$,  = 18)  = 24C.1) t 34C.2) t 44C.4) c 54C.3)

= 43 U--m

tin,V&Uuan%I  (~& : 15 16 17 1 8

3 a15 0 3 6 9

~wt4nm-1 = 16

(lJ?lJ7Oln7f~4~B:;D)  s2 = 1 7

7 0 3 6

s3 14 7 0 3

s4 E 18 21 14 7 0
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(Expected Opportunity Loeeee : EOL)

nQ4M7414aPfl (Si) In +J %I

EOL(Si)  - 'f Lijf(N,)

EOL(S1  = 15) =

EOL$ = 16) =

s

i?OL$ = 17) =

=

EOL(S&  = 18) =

OC.1)  + 3l.2) t 6t.4) t 9(.3)

5.70 my1

7t.l)  + ot.2)  + 3C.4) t 6C.3)

3.7 U7M

14t.l)  + 7t.2) + Oc.4) + 3C.3)

3.7 lml

21C.1) + lU.2) t 7C.4) t oC.3)

6.30 UVI



?tl& 2 3 4 5 6

lml~79~L~U 0.2 0.3 0.3 0.1 0.1

MI 4 idon s1 - 2 24 24 24 24 24

(PiU?U2d~Q) s2 m 3 lg 36 36 36 36

s3 = 4 14 31 48 48 48

Sk = 5 9 26 43 60 60

s5 I 6 4 21 38 55 72

Sl~r’uU~~~llltMuR~Vi~?‘J~ (EOP)  mdudazmab?imln  7 *Rn
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EOP$  - 2) = 24C.2) + 24t.3) + 24t.3) + 24t.l) + 24C.l)

I 24 lt%I

soPtS2  = 3) -

a

EOP(S3  = 4) =

a

EOP(S4  = 5) =

P

EOP(S5  = 6) =

P

19C.2) + 36t.3) + 36t.3) t 36t.1) + 36t.1)

3 2 . 6 0  lJWl

141.2) t 31C.3) t 48t.3) t 48t.l) t 48(.1)

36.10 uw

9t.2) + 26t.3) + 43t.3) + 6Ot.1) + 60t.1)

34.50 mm

‘tC.2)  + 21t.3) + 38C.3) t 55t.1) + 72(.1)

31.20 11~

".4=3 a Y
nwlmm  ~Rr?r~nuutUo;LU~~M7aUR7RJRP  (Use of Marginal or Incremental

Analysis in Inventory Problems)



l-

2 3 4 5 6

24 24 24 24 24

16 36 36 36 36

8 2s 45 48 48

0 20 40 60 60

-8 12 32 52 72
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I P* - ML
MP+ML I



P* - ML
-&-- --iv

0.40
MP+klL

.2 1.00

03 .80
.3 -50 q-p* = .40

.I .2o

.I .I
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P(D )X> = P"

P" * ML.
Mp + ML
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n = 64 ii  CD 1 5 0 0  S = 8 0 0

s-
X

- s/J;;  = SOO/  fi = 100

MP = 30 - 20 P 10 ML - 20

P* pi  20/(20  + 10) - 0.67

mnm&i  br7lnY  zp* = -0.43

Glh x - 1500 c (-0.43) (100)

= 1457 l&u
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ll77l‘d  Decision Trees (Decision

Trees in the Evaluation of Alternatives)

1. a;14 Tree Diagram
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~v=2.625/

2 n;UUlM 2r.25 = 0.5  a;uul~

0.5 n;UUlM 0.5x.25 m 0.125  n;UlJlM

2. kml

2 &UUlM 2 x.5 = 1 a;UlJlrn

1.8 thwm  1.8x.25 = 0.45 km

\diC.25) 1.5 ;WlM 1.5x  .25  - a &lWl
Y

I, 825  ~IUUIM-
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1 .  I 11wtnn

n i b  ~a& - 0.5(-4,000,000)+0.25(4,000,00~0.2~(20,000,000)

= 4,000,000 lml

P(A1) Ei  0.5

P(Az) = 0.25

P(A+ si  0 . 2 5

m&9 ~dhih.l  i&nlrmaw  tmm%u’inuninunr  zI;YniZ*I3~

(Conditional ProbabFlitFes) i&if

P(G/A+ = 0.2 P(B/A1) = 0.8

P(G/A2) - 0.6 P(B/A2) - 0.4

P(G/A3) = 0.8 P(B/A$ = 0.2



*1

*2

*3

f-m

G

P(AfG) = P(A1).P(G/A1)

= 0.5x0.2=0.1

P(A2nG) = P(A2).P(G/A2)

E 0.25x0.6-0.15

P(A3nG) = P(A3).P(G/A3)

= O.25xO.8~O.2

P(G) - 0.45
T

(Marginal Probability)/

B

P(AfB) = Pbl).P(B/A$

- 0.5x0.8=0.4

P(AfB) = P(A2).P(B/A2)

I 0.25x0.4-0.1

P(A3flB) = P(A3).P(B/A3)

= 0.25x0.2=0.05

P(B) = 0.55

P(A1 ) = 0.5

P(A2 ) = 0.25

P(A3) E 0.25

1.0

P(Al/G) P P(AlnG)  = 0.1 - 0.222
-mT m5

P(A2/G) - P(AflG) =
P(G)

P(A3/G) - P(A3m) P
T5-

0.445
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4 3

P(Al/B) P P(AftB)  s 0.4 * 0.73
Tar 0.55

P(Az/B)  m  P(A2f’B)  = o,l s 0 . 1 8
PO- 0 . 5 5

P(A-j/B) - P(A3m)  = 0.05 = 0.09
Fm- 0.55
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